
MODULE

FUNCTION

FUNSIG = STEPS

type:int id:main PARAMLIST id:r intval:0 scope:open DECLLIST DECLLIST DECLLIST DECLLIST WHILE scope:close

type:int DECLID

=

id:x intval:3

type:float DECLID

=

id:j =

id:k floatval:2.718

type:string DECLID

=

id:m stringval:the lazy brown fox

type:int DECLID

=

id:mlen intval:18

> STEPS

* intval:0

id:x id:k

scope:open DECLLIST DECLLIST IF = = scope:close

type:float DECLID

=

id:j domain

floatval:1000.0001

type:int DECLID

id:q

> STEPS

id:j intval:0 scope:open DECLLIST DECLLIST EMIT = scope:close

type:string DECLID

=

id:oops stringval:iamunused

type:bool DECLID

id:b

id:m intval:0 id:mlen id:q intval:4398

id:x -

id:x intval:1

id:q id:x


